This Pricing Sheet (Bid Package 2) To Be Submitted To DIR With Proposal

SERVICE Description	DIR Customer Price EACH/Per Unit
Category 1. WEBSITE DESIGN/DEVELOPMENT	
Website Design/Development (up to 5 pages)	663.38
Website Design/Development (up to 10 pages)	972.95
Website Design/Development (up to 20 pages)	1,592.10
Content Manager Website Design/Development (upto 10 Pages)	
Includes Joomla, Wordpress or Drupal Implementation and CSS	1,910.52
Content Manager Website Design/Development (upto 25 Pages) Includes Joomla, Wordpress or Drupal Implementation and CSS	2,830.40
Mobile Website 5 Pages	716.45
Mobile Website entire website - Hourly	86.69
Business Analysis Hourly	82.13
Graphic Designer Hourly	68.44
Software Developer Hourly	81.21
Software Developer Ld Hourly	86.69
Copywriter Hourly	59.31
Development Lead Hourly	86.69
Project Manager Hourly	86.69
staff services - not considered	
SERVICE Description	DIR Customer Price EACH/Per Unit
Category 2. WEBSITE HOSTING	
Linux Semi-dedicated / monthly	132.68
Linux Dedicated / Monthly	398.03
Windows Semi-dedicated / Monthly	221.13
Windows Dedicated / monthly	707.60

SERVICE Description	DIR Customer Price EACH/Per Unit
Category 3. DOMAIN NAME SYSTEM (DNS) MANAGEMENT	
Domain Name Identification Hourly	106.14
Domain Name Registration (one time fee)	13.69
Domain Name Renewal (Annual)	13.69
SERVICE Description	DIR Customer Price EACH/Per Unit
Category 4. BUSINESS TOOLS	
Web Traffic Analysis - One time	1,415.20
Web Traffic Analysis updates - Monthly	221.13
Security Analysis - Hourly	104.94
E-Marketing Initial Setup - One time	955.26
E-Marketing Silver Package - Monthly	353.80
E-Marketing Gold Package - Monthly	530.70
E-Marketing Platinum Package - Monthly	955.26
Social Media Pages Creation (Hourly)	86.69
Social Media Pages Management (Hourly)	100.38
RSS Feeds (One time)	442.25
Blogs Creation (One time)	442.25
Discussion Board (One time)	707.60
SERVICE Description	DIR Customer Price EACH/Per Unit
Category 5. E-MAIL HOSTING	
E-Mail hosting service is available on the project basis. For dedicated servers, 10 email address with limited Storage is Free. Additional Emails are charged and for other hosting options, the email charges based on the storage space requirements available	TBD

	DIR
	Customer
SERVICE Description	Price
	EACH/Per
	Unit
Category 6. ACCESSIBILITY	
Accessibility Technical Assessment (Hourly)	77.56
Accessibility Remediation Service (Hourly)	81.21
Compliance Tester - Manual (Hourly)	59.31
Compliance Tester - Tool based (Hourly)	59.31
Accessibility Project Manager (Hourly)	77.56
Staff Services - not considered	
	DIR
	Customer
SERVICE Description	Price
S=11115= 255511.	EACH/Per
	Unit
Category 7. WEB CONTENT MANAGEMENT	
Vendor Managed Content (Hourly)	59.31
Training & Support for Content Managed Website Content Management	
for Customer to manage content - Hourly	100.38
	DIR
	Customer
SERVICE Description	
SERVICE Description	Price
SERVICE Description	Customer Price EACH/Per Unit
SERVICE Description	Price EACH/Per
Category 8. MAINTENANCE, TRAINING AND SUPPORT	Price EACH/Per Unit
Category 8. MAINTENANCE, TRAINING AND SUPPORT Training Material Creation - Hourly	Price EACH/Per Unit 91.25
Category 8. MAINTENANCE, TRAINING AND SUPPORT Training Material Creation - Hourly Training Delivery - Daily, Including 10 training material for 10 People	Price EACH/Per Unit 91.25 1,061.40
Category 8. MAINTENANCE, TRAINING AND SUPPORT Training Material Creation - Hourly Training Delivery - Daily, Including 10 training material for 10 People Web Maintenance & Support Silver - Annual (Includes 100 Hrs / Yr)	Price EACH/Per Unit 91.25 1,061.40 5,749.25
Category 8. MAINTENANCE, TRAINING AND SUPPORT Training Material Creation - Hourly Training Delivery - Daily, Including 10 training material for 10 People Web Maintenance & Support Silver - Annual (Includes 100 Hrs / Yr) Web Maintenance & Support Gold - Annual (Includes 250 Hrs / Yr)	Price EACH/Per Unit 91.25 1,061.40 5,749.25 13,654.47
Category 8. MAINTENANCE, TRAINING AND SUPPORT Training Material Creation - Hourly Training Delivery - Daily, Including 10 training material for 10 People Web Maintenance & Support Silver - Annual (Includes 100 Hrs / Yr)	Price EACH/Per Unit 91.25 1,061.40 5,749.25
Category 8. MAINTENANCE, TRAINING AND SUPPORT Training Material Creation - Hourly Training Delivery - Daily, Including 10 training material for 10 People Web Maintenance & Support Silver - Annual (Includes 100 Hrs / Yr) Web Maintenance & Support Gold - Annual (Includes 250 Hrs / Yr)	Price EACH/Per Unit 91.25 1,061.40 5,749.25 13,654.47 25,871.63
Category 8. MAINTENANCE, TRAINING AND SUPPORT Training Material Creation - Hourly Training Delivery - Daily, Including 10 training material for 10 People Web Maintenance & Support Silver - Annual (Includes 100 Hrs / Yr) Web Maintenance & Support Gold - Annual (Includes 250 Hrs / Yr)	Price EACH/Per Unit 91.25 1,061.40 5,749.25 13,654.47 25,871.63
Category 8. MAINTENANCE, TRAINING AND SUPPORT Training Material Creation - Hourly Training Delivery - Daily, Including 10 training material for 10 People Web Maintenance & Support Silver - Annual (Includes 100 Hrs / Yr) Web Maintenance & Support Gold - Annual (Includes 250 Hrs / Yr) Web Maintenance & Support Platinum - Annual (Includes 500 Hrs / Yr)	Price EACH/Per Unit 91.25 1,061.40 5,749.25 13,654.47 25,871.63 DIR Customer
Category 8. MAINTENANCE, TRAINING AND SUPPORT Training Material Creation - Hourly Training Delivery - Daily, Including 10 training material for 10 People Web Maintenance & Support Silver - Annual (Includes 100 Hrs / Yr) Web Maintenance & Support Gold - Annual (Includes 250 Hrs / Yr)	91.25 1,061.40 5,749.25 13,654.47 25,871.63 DIR Customer Price
Category 8. MAINTENANCE, TRAINING AND SUPPORT Training Material Creation - Hourly Training Delivery - Daily, Including 10 training material for 10 People Web Maintenance & Support Silver - Annual (Includes 100 Hrs / Yr) Web Maintenance & Support Gold - Annual (Includes 250 Hrs / Yr) Web Maintenance & Support Platinum - Annual (Includes 500 Hrs / Yr)	Price EACH/Per Unit 91.25 1,061.40 5,749.25 13,654.47 25,871.63 DIR Customer Price EACH/Per
Category 8. MAINTENANCE, TRAINING AND SUPPORT Training Material Creation - Hourly Training Delivery - Daily, Including 10 training material for 10 People Web Maintenance & Support Silver - Annual (Includes 100 Hrs / Yr) Web Maintenance & Support Gold - Annual (Includes 250 Hrs / Yr) Web Maintenance & Support Platinum - Annual (Includes 500 Hrs / Yr)	Price EACH/Per Unit 91.25 1,061.40 5,749.25 13,654.47 25,871.63 DIR Customer

Project Manager Dr Hourly	86.69
Business Analysis Hourly (Requirement gathering, Customer Interviews, Use Case Creations, Requirement documentation, WireFrames support)	82.13
Business Analysis Designer - Hourly (Wire Frames creation)	68.44
Project Scoping, Planning and software Selection - Hourly	77.56
Software Installation, Integration and support - Hourly	77.56
Designer - Hourly	68.44
Software Developer - Hourly	77.56
Software Developer Ld - Hourly	86.69
Staff Services - not considered	

SERVICE Description

DIR Customer

Price EACH/Per Unit

Category 10. OPTIONAL SERVICES	
Enhancements and Future customization - Hourly	74.16
Product Installation, Configuation & Setup - Hourly	74.16
Website Strategy and roadmap guidance - Hourly	210.63
Android Mobile Application Development - Hourly	101.29
IOS based Mobile application development - Hourly	101.29
Data Migration - Hourly	59.31